Name: Date:

Period: Mr. Valentino

Unit 8 Test Topics
* Pythagorean Theorem
o Classifying triangles using Pythagorean theorem
* Trigonometry
o Sine, Cosine, Tangent
o Angle of Elevation and Depression
o Law of Sines
o Law of Cosines
o Cofunctions
* Special Right Triangles

Unit 9 Test Topics
* Properties of Parallelograms
* Properties of Rectangles
* Properties of Rhombuses
* Properties of Squares
* Properties of Trapezoids
o Midsegment, altitude problems
*  Proofs with Quadrilaterals

Unit 10 Test Topics
*  Slope
*  Midpoint
¢ Distance
* Quadrilateral Proofs

* Triangle Proofs

Attached you will find 55 practice problems. This is not all-inclusive! You
must study your notes, homework’s and past tests!



1.In AABC, mZA =33, a=12,and b =15. What is 2. In AABC, the complement of ZB is ZA. Which

m4ZB to the nearest degree? statement is always true?
1) 41 1) tanZA=tanZB

2) 43 2) smZA=smnZB

3) 44 3) cosZA=tanZB

4) 48 4) smZA=cos4LB

3.InAFGH, f=6, g=9,and mZH = 57. Which statement can be used to determine the numerical value of #?

1) B =6%+9% — 29)(h)cosST° 3) 6% =9 +h* =2(9)(h)cos57°
2) h=6"+9>-26)9)cos5T° 4) 97 =6"+h* - 2(6)(h)cos5T°
4 1f sm64 = cos 94, then m£4 1s equal to 5. Solve for x to the nearest degree.
1) 6
2) 36
3) 45 8
|
4) 1 3 x° 20

[A]22 [B]68 [C]24  [D] 66

6. AXYZ 1s a right triangle with a right angle at Y. Which of the following is true?

[A] cosZ=£ [B] sin)x’:E [C] sinX=£ [D] tanX=£ [E] sinZ=£
XZ XZ XZ zZY XZ

7. A large totem pole near Kalama, Washington, is 8. Use the Pythagorean theorem to solve for x.
115 ft tall. On a particular day at noon it casts a
231 ft shadow. What is the sun's angle of
elevation at that time?

X

[A] 29.9° [B] 63.5° [C] 60.1° [D] 26.5° Ji7 s
[A] V514 [B] +208

[C] V17 [D] V64



9.In AABC, ZA1sarightangle and m £ B =45.
If AB =17 feet, find AC.

[A] 14.722 ft
[C] 17 fi

[B] 29.445 fi
[D] 24.042 fi

11. A 12-foot ladder 1s leaning against a building.
The bottom of the ladder is 4 feet from the
building. How far up the building is the top of
the ladder? Round your answer to the nearest
tenth.

13 A slide 3.5 m long makes an angle of 28°
" with the ground. How high is the top of the
slide above the ground?
[A] 1.86 m [B] 1.64 m

[C] 3.09m [D] 1.71 m

15. A man 6 fi tall walks 75 ft from the base of a
tree. He uses a protractor to measure the
angle from his eye to the top of the tree. He

finds 1t to be about 25°. Find the height of
the tree to the nearest foot.

17. Solve for x to the nearest degree.

x° 17

[A]58 [B]32 [C]62 [D]28

10.

14.

16.

18.

What 1s x to the nearest hundredth?

M 33°
[A] x = 1144 [B] x = 1364
[C] x = 1761 [D] x = 3234

. Which set of side lengths cannot form a right

triangle?

[A] 12 mm, 16 mm, 20 mm
[B] 24 mm, 32 mm, 40 mm
[C] 6 mm, 8§ mm, 10 mm
[D] 13 mm, 16 mm, 20 mm

A lookout spots a fire from a 36 meter tower.
The angle of depression from the tower to the
fire 1s 22 degrees. To the nearest meter, how
far 1s the fire from the base of the tower?

Liola drives 12 km up a hill that is at a grade
of 14°. What horizontal distance, to the
nearest tenth of kilometer, has she covered?

[A] 13.7 km [B] 2.9 km
[C] 3 km [D] 11.6 km

In AFUN, f=4, mZF = 26, and m£N = 67. Find
the value of n to the nearest integer.



19. In AABC,a=6,b= 12, and mZC = 60. What is the length of side ¢ to the nearest integer?
1) 5§ 3) 11
2) 10 4) 20

20. Given the right triangle below, what is the 21. The diagram below shows the plans for a cell
length of the hypotenuse? Round your answer phone tower. A guy wire attached to the top of the
to the nearest tenth. tower makes an angle of 65 degrees with the

ground. From a point on the ground 100 feet from
the end of the guy wire, the angle of elevation to

9em the top of the tower is 32 degrees. Find the height
of the tower, to the nearest foot.

'n
10cm

[A] 181.0 cm [B] 13.5¢cm

[C] 44 cm [D] 19.0 cm




22. Find the measures of the numbered angles in
the parallelogram.

0° 122°

[A] mZ£1=28, mZ£2=30, m£3=122
[B] m£1=30, m£2=28, m£Z3=122
[Cl mZ£1=15, mZ£2=61, m£3=150
[D] mZ1=30;, mZ2=15, mZ£Z3=150

25. The measures of the angles of a quadrilateral
are x+15, 2x, x-45, and 2x-60. What
type(s) of quadrilateral could this be?

I. parallelogram II. rectangle III.
trapezoid

[A] Tonly [B]IandIl  [C] Il only
[D] Tonly  [E] IandIII

26. The cross section of an attic is in the shape of an
isosceles trapezoid, as shown in the accompanying
figure. If the height of the attic i1s 9 feet, BC = 12

feet, and AD = 28 feet, find the length ofA_B to the

nearest foot.
B 12 C
|
p
0
™ E_x -

23. In isosceles trapezoid JKLM,
leg JK=T7x-9, base KL=5x+3, and
leg LM =2x+2. Find the value of x.

A16 [B] 5 (Cl-3 [D] -1

24. Given ABCD 1s a rhombus, m Z ABC = 120,
and EB =19. Find the length of AD.

C

[A] 38 [B]43 [C]42 [D]35

27. If ON =8x=2, IM=Tx+7, NM=x-4,
and OL=2y+3, find the values of x and y
for which LMNO must be a parallelogram.

(0]

N

M

[A] x=9;y

Il
—
=

)
|

|

|
-

Il
L

[Clx=9,y= -1 [D]jx=5y= -l



28. A parallelogram must be a rectangle when its 29. Which quadrilateral has diagonals that always

1) diagonals are perpendicular bisect its angles and also bisect each other?
2) diagonals are congruent 1) rhombus

3) opposite sides are parallel 2) rectangle

4) opposite sides are congruent 3) parallelogram

4) 1sosceles trapezoid

30. A parallelogram is always a rectangle if 31.
1) the diagonals are congruent The diagonals of a quadrilateral are congruent but
2) the diagonals bisect each other do not bisect each other. This quadrilateral is
3) the diagonals intersect at right angles 1) anisosceles trapezoid
4) the opposite angles are congruent 2) aparallelogram

3) arectangle
4) arhombus

32 Which reason could be used to prove that a
" parallelogram is a rhombus?

1) Diagonals are congruent. 33.

Which quadrilateral does nor always have

2) Opposite sides are parallel. congruent diagonals?
3) Diagonals are perpendicular. 1) 1sosceles trapezoid
4) Opposite angles are congruent. 2) rectangle
3) rhombus
4) square
34. In quadrilateral ABCD, each diagonal bisects 35. In a certain quadrilateral, two opposite sides are
opposite angles. If mZDAB = 70, then ABCD must parallel, and the other two opposite sides are not
be a congruent. This quadrilateral could be a
) rectangle 1) rhombus
2) trapezoid 2) parallelogram
3) rhombus 3) square
4) square 4) trapezoid
36. Which quadrilateral has diagonals that are always 37. Which statement is false?
perpendicular bisectors of each other? 1) All parallelograms are quadrilaterals.
1) square 2) All rectangles are parallelograms.
2) rectangle 3) All squares are rhombuses.
3) trapezoid 4) All rectangles are squares.

4) parallelogram



38.

40.

42.

Find the measure, to the nearest tenth, of the
diagonal of a rectangle with dimensions
18 cm by 9 cm.

[A] 52 cm
[C] 15.6 cm

[B] 20.1 cm
[D] 19 cm

Trapezoid TRAP, with median M_Q is shown in the
diagram below. Solve algebraically for x and y.

T 12y+1 R
(12x-4)°
16y + 1
M Q
(7x + 13)° (6x)°
P 18y + 6 A

In quadrilateral MNOP, ZM = ZN.
Quadrilateral MNOP could be a

I. trapezoid. II. thombus. IIL
parallelogram.

[A] LI, or III [B] ITor III
[C] Torll [D] T only [E] III only

39. Inrhombus ABCD, with diagonals AC and ﬁ

41.

43.

AD = 10.

c B

If the length of diagonal AC is 12, what is the
length of DB?

1) 8 2) 16 3) ~J44 4) [136

Isosceles trapezoid ABCD has diagonals AC and

BD. If AC=5x+13and BD = 11x -5, what is the
value of x?
1) 28

3
2) 107

3) 3
1
4) 3

Select the geometric figure that possesses all
of the following characteristics:

(1) quadrilateral

(2) diagonals equal

(3) opposite sides are parallel

[A] trapezoid
[C] rhombus

[B] parallelogram
[D] rectangle



44 .Given: AE = EC,ED = EB
AB | BC,AB=BC
Prove: ABCD is a square

A 8

45. Given: ABCD is a rhombus.
Prove: A BCA = A DAC

46. Given: AMJIK = NKIM
Prove: MJKL is a parallelogram.

J K




47.

49.

51

Which equation represents the perpendicular
bisector of 4B whose endpoints are 4(8,2) and
B(0,6)?

1) y=2x-4

2) y=——;x+2

3) y=—?,|2-x+6

4) y=Xx-12

Line ¢ passes through the point (5,3) and is parallel
to line k whose equation is 5x + y = 6. An equation
of line £ is

1) y=—§x+2
2) y=-5x+28
3) y=%x—2
4) y=-5x-28

The coordinates of A are (=9,2) and the coordinates
of G are (3,14). What are the coordinates of the
midpoint of AG?

) (-3,8)

2) (-6,6)

3) (=6,16)

4) (=21,-10)

48. What is an equation of the line that passes through
the point (-2, 5) and is perpendicular to the line

whose equation is y = %x+5?
1) y=2x+1
2) y==Xx+1

3) y=2x+9
4) y=-x-9

50. M is the midpoint of AB. If the coordinates of A are
(=1,5) and the coordinates of M are (3,3), what are

the coordinates of B?
1) (1,4)

2) (2,8

3) (7))

4) (=57

52. A line segment has endpoints (4,7) and (1, 11).
What is the length of the segment?
1) 5§
2) 7
3) 16
4) 25



53. Given: Quadrilateral ABCD with A(= 5, 0), B(1, —4), C(5, 2), D(~1, 6).

Prove: ABCD is arectangle.

54 Quadrilateral KATE has vertices K(1,5), A(4,7),

55.

1(7,3), and E(1,=1).

a Prove that KATE is a trapezoid. [The use of the
grid is optional.]

b Prove that KATE is not an isosceles trapezoid.

The coordinates of quadrilateral ABCD are
A(=1,=5), B(8,2), C(11,13), and D(2,6). Using
coordinate geometry, prove that quadrilateral
ABCD is arhombus. [The use of the grid is
optional.]




